ER-IRBAREE—FR n g%ﬁuzﬁségagii
EE EEHhESSL

R HX BiEE
= SRET — R X Jt B8 F EF 5D
MR EEFEL O |- SHRhX
X7 GB2KE) |REmR=EHEE (25
(TMKRE) |LIEREEREE (167
G REREE [BHIFE=73 BA)RE=115 YRIIFE=125
stk HoEsE AN RE= (12, 35.4)
ALK TR 5
o bR AN [/ L KAE]
2] - . fEE 20m/s
A FRRRE fi: 25m/s
. fE 20m/s EFES
= b
35S 14 LR = 5m/s BEFES
AE BEEDRS 4B E DES10cm
KR E ) 6.0m
= 80 B 2.0m
X FEMEEEE%E |16
TIERMEEHERE |108
GEREEREE [BE)IRE=58 =HIIKRE=9.2, YR)IFHE=10
. BREF )1 FRigk=(8, 5.2), EHIIIFtE=(12, 8.1), tNR)IIFi=E=(10, 9.6),
K wase INLIIF=(s. 31.9)
FETE ATk T #R =
o INALIIT [/ KAE]
W . fEE 12m/s
SR A T RE B 5m/s
= . &L 12m/s EFH#ES
= I
RE FHRE B T5m/s BEHES
AE BEEDRS 24B5 B E D FES5cm
KR e 2.5m
AR =i AL 1.6m
ES FEFICFYEENTEINDSE
RME
o - L 100m
p-—+ 1Rig B 500m
BrIR &/INBEA0% T, ENEE65%
BEEDFES100cmU LT, ROWThH
BER 1 SR CRIEDFR
= 2 BREFICKLBER
3 BEDFE30cmLl L
&8 B FELYTFHEEMNICULEVBMNSAHV %, SOIC2BUEHKEFEINDIEE
o LB FHBTHREIE-SCUT WAV TRIESE-8CUT
= 11B20BETHEFE. 3A20B LIFNDIKTE RIEKIBICLUT
| EKBE ASEHRIEBOEHT T, RE-2°C~2°C. EEI0% L
A0 6% 1 fE B R K MR 1R 3R 1RERE [120mm

EREWEREY AEAEER ORAShEILIREBERLTOETS,



